

الماتريكة

$$\frac{a}{r} \times a \times a = a^r = r \epsilon \Rightarrow a = r^{\frac{1}{\epsilon}}$$

$$r = \frac{1}{\epsilon} \Rightarrow \frac{1}{\epsilon} = \frac{1}{\epsilon} \quad r = \frac{1}{\epsilon}$$

$$\frac{\epsilon}{r} + \epsilon + \epsilon r = r \quad \frac{r \epsilon}{r \epsilon} + \epsilon r^{\epsilon} - 1/r = -\epsilon + \frac{1/r}{r \epsilon}$$

$$\frac{\epsilon}{r} + \epsilon r = 1/r \quad \epsilon r^{\epsilon} + \epsilon = 1/r$$

r

$$r = \frac{r^{\epsilon} + \epsilon}{r \epsilon} \Rightarrow \epsilon r^{\epsilon} = r^{\epsilon} + r \epsilon^{\epsilon} - 1$$

$$r^{\epsilon} - \epsilon \text{ و } 1/r, r^{\epsilon} - r^{\epsilon}, 1/r$$

$$1/r^{\epsilon} - 1/r = \boxed{1/r}$$

$$r^{\epsilon} - 1 = r^{\epsilon} \Rightarrow r^{\epsilon} = \epsilon \quad r = \frac{1}{\epsilon}$$

$$a + a \theta + a \theta^2 + a \theta^3 + a \theta^4 = \frac{1}{11} a \quad r^{\epsilon} = r^{\epsilon}$$

r

$$r = \frac{r^{\epsilon} + 1}{\epsilon} = 10/11 \quad r^{\epsilon} = \frac{1/r^{\epsilon}}{1} \Rightarrow r^{\epsilon} = r^{\epsilon} \Rightarrow r = \frac{1}{\epsilon}$$

ε

$$A = \frac{r^{\epsilon} + 1}{\epsilon} = r^{\epsilon} a \quad B^{\epsilon} = r^{\epsilon} \epsilon \quad B = \pm 1$$

$$r = \frac{-a}{\epsilon} + r^{\epsilon} = \frac{1}{\epsilon} \quad a_{1,1} = -r^{\epsilon} + \frac{1}{\epsilon} = 1$$

a

$$\frac{a}{r} \left(\frac{a}{r \epsilon} \right)^{\epsilon} = 1$$

$$\frac{a^{\epsilon}}{r^{\epsilon}} = \frac{1}{r \epsilon}$$

$$(a^{\epsilon})^{\epsilon} = (r \epsilon)^{\epsilon}$$

$$a^{\epsilon} = r^{\epsilon} = r^{\epsilon} \quad r = \frac{1}{\epsilon}$$

$$a + r_d a + r_d a + r_d a$$

$$\frac{a + r_d a}{r_d + a} = \frac{a + r_d a}{r_d + a}$$

$$a + r_d a + r_d a + r_d a = a + r_d a + r_d a + r_d a$$

$$r_d a + r_d a = 0$$

$$a + r_d a = 0 \Rightarrow a = -r_d a$$

$$d = \frac{a}{-1}$$

$$a + d$$

$$r_d + a$$

$$a + r_d$$

$$\frac{a + d}{r_d + a}$$

$$= \frac{a + r_d}{r_d + a}$$

$$r_d + a + r_d + a = r_d + a + r_d + a$$

$$r_d - r_d = 0$$

$$r_d \rightarrow r_d$$

$$r_d$$

$$d - a = 0$$

$$a_1 = \frac{1}{r_d} \times r_d = r_d = r_d$$

$$r_d(a), r_d(r_d), a r_d$$

$$r_d - r_d = a d - r_d a$$

$$d - r_d = -r_d$$

$$d = r_d$$

$$d = \frac{1}{r_d}$$

$$r_d - \frac{1}{r_d}$$

$$a = r_d - \frac{1}{r_d}$$

$$a = r_d - \frac{1}{r_d}$$

$$a = r_d - \frac{1}{r_d}$$

$$\frac{a}{r_d} + a$$

$$\frac{1}{r_d} + a$$

$$-1 + a$$

$$\rightarrow \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$= \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\frac{1}{r_d} + a = \frac{1}{r_d} + a$$

$$\boxed{r_d = \frac{a}{r_d}}$$

$$a = a d^r + a d^s = V r$$

- 10

$$a d^r - a = \frac{a d^s - a d^r}{\wedge}$$

$$\underbrace{a(d^r - 1)}_{\wedge} = \underbrace{a(d^s - d^r)}_{\wedge} \Rightarrow \wedge d^r - \wedge = d^s - d^r$$

$$\wedge d^r - \wedge = d^s$$

$$\frac{\wedge}{\varepsilon} - \wedge = d^s - \wedge d^r + \frac{\wedge}{\varepsilon}$$

$$\frac{V}{\varepsilon} = d^r - \frac{a}{\varepsilon}$$

$$\wedge = d^r \rightarrow \boxed{d = M}$$

$$\frac{V}{\varepsilon} = d^r - \frac{a}{\varepsilon} \Rightarrow d^r = 1 \quad \boxed{d = 1}$$

$$\left(\frac{V}{\varepsilon} \right)^r = \left(d^r - \frac{a}{\varepsilon} \right)^r$$

$$\boxed{a = 1}$$

$$a(1 + \wedge + u\varepsilon) = V r$$

$$\wedge \quad u\varepsilon \quad \left\{ \begin{array}{l} r = \wedge - 1 = V \end{array} \right.$$

$$a(1 + 1 + 1) = V r$$

$$a = r\varepsilon \frac{1}{\varepsilon}$$

$$r\varepsilon \frac{1}{\varepsilon}$$

$$r\varepsilon \frac{1}{\varepsilon}$$

$$\boxed{r = 0}$$